
TWIN OVER TWIN BUNK BED
LIT SUPERPOSÉ TWIN

CAMA LITERA

BR11 - 20439

Scan QR Code

For Assembly Video



- 2 -



TO HELP PREVENT SERIOUS OR FATAL INJURIES FROM ENTRAPMENT OR FALLS:

1 - FOLLOW THE INFORMATION ON THE WARNINGS APPEARING ON THE UPPER BUNK END
STRUCTURE AND ON THE CARTON. DO NOT REMOVE WARNING LABEL FROM BED.

2 - ALWAYS USE THE RECOMMENDED SIZE MATTRESS OR MATTRESS SUPPORT, OR BOTH, TO
HELP PREVENT THE LIKELIHOOD OF ENTRAPMENT OR FALLS.

3 - USE ONLY MATTRESS WHICH IS 74" - 75" LONG AND 37 1/2" - 38 1/2" WIDE ON UPPER AND
LOWER BUNKS.

5 - ENSURE THICKNESS OF MATTRESS AND FOUNDATION COMBINED DOES NOT EXCEED 7" (177MM)
FOR UPPER BUNK AND 6 1/2" (165MM) FOR LOWER BUNK AND MATTRESS IS AT LEAST 5" (127MM)
BELOW UPPER EDGE OF GUARDRAILS.

6 - DO NOT ALLOW CHILDREN UNDER 6 YEARS OF AGE TO USE THE UPPER BUNK.

8 - DO NOT ALLOW HORSEPLAY ON OR UNDER THE BED. PROHIBIT JUMPING ON THE BED.

9 - PROHIBIT MORE THAN ONE PERSON ON UPPER BUNK.

10 - RECOMMENDED WEIGHT ON UPPER BUNK BED NOT TO EXCEED 165 LBS = 75KG

11 - ALWAYS USE THE LADDER FOR ENTERING AND LEAVING THE UPPER BUNK.

15 - ALWAYS USE GUARDRAILS ON BOTH LONG SIDES OF THE UPPER BUNK.

17 - THE USE OF WATER OR SLEEP FLOTATION MATTRESSES IS PROHIBITED.

18 - KEEP THESE INSTRUCTIONS FOR FUTURE REFERENCE.

19 - STRANGULATION HAZARD - NEVER ATTACH OR HANG ITEMS TO ANY PART OF THE BUNK
BED THAT ARE NOT DESIGNED FOR USE WITH THE BED; FOR EXAMPLE, BUT NOT LIMITED
TO, HOOKS, BELTS AND JUMP ROPES.

16 - IF THE BUNK BED WILL BE PLACED NEXT TO A WALL, THE GUARDRAIL THAT RUNS THE
FULL LENGTH OF THE BED SHOULD BE PLACED AGAINST THE WALL TO PREVENT
ENTRAPMENT BETWEEN THE BED AND THE WALL.

14 - USE OF A NIGHT LIGHT MAY PROVIDE ADDED SAFETY PRECAUTION FOR A CHILD USING
THE UPPER BUNK.

13 - FOR REPLACEMENT PARTS, PLEASE CONTACT: LINON HOME DECOR PRODUCTS, INC. - TOLL
FREE NUMER 1.800.262.1852.

12 - DO NOT USE SUBSTITUTE PARTS. CONTACT THE MANUFACTURER OR DEALER FOR
REPLACEMENT PARTS.

7 - PERIODICALLY CHECK AND ENSURE THAT THE GUARDRAIL, LADDER, AND OTHER
COMPONENTS ARE IN THEIR PROPER POSITION, FREE FROM DAMAGE, AND THAT ALL
CONNECTORS ARE TIGHT.

4 - SURFACE OF MATTRESS MUST BE AT LEAST 5 IN. (127MM) BELOW THE UPPER EDGE OF
GUARD RAILS.

WARNING!!!

- 3 -



- 4 -

01

02

02

06

07

07

09
22

22

11

12

14

14

15

15

03

03

05

04

13

13

13

13

09

06

08 08

01

16

16

16

20

20

20

17

17

10

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

19

18

18

#01 #02 #03 #04 #05 #10 #13 #14
#15 #16 #17 #18 #19 #20

#01 #02 #03 #04 #05 #10 #13 #14
#15 #16 #17 #18 #19 #20

#01 #02 #03 #04 #05 #10 #13 #14
#15 #16 #17 #18 #19 #20

#06 #07 #08 #09 #11 #12 #21 #22
+ Hardware

#06 #07 #08 #09 #11 #12 #21 #22
+ Ferrures

#06 #07 #08 #09 #11 #12 #21 #22
+ Herrage



01

02

02

06

07

07

09
22

22

11

12

14

14

15

15

03

03

05

04

13

13

13

13

09

06

08 08

01

16

16

16

20

20

20

17

17

10

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

19

18

18

01010101

02

03

04

05

06

07

08

09

10

11

12

13

14

15

16

17

18

19

20

21

22

00

Lower headboard-footboard post / Tête de lit inférieure / Poste inferior de la cabecera

Lower headboard-footboard post / Tête de lit inférieure / Poste inferior de la cabecera

Lower headboard-footboard / Panneau de lit inférieure / Panel cabecera cama inferior

Lower headboard-footboard top rail  / Rail supérieur de la tête de lit inférieure / Riel superior del cabecero inferior

Upper headboard-footboard top rail  / Rail supérieur de la tête de lit supérieure / Riel superior del cabecero superior

Upper headboard-footboard / Panneau de lit supérieure / Panel cabecera cama superior

Upper headboard-footboard post / Tête de lit supérieure / Poste superior de la cabecera

Upper headboard-footboard post / Tête de lit supérieure / Poste superior de la cabecera

Upper headboard-footboard post / Tête de lit supérieure / Poste superior de la cabecera

Front side rail / Rail latéral avant / Riel lateral delantero

Rail / Rail / Riel

Rail / Rail  / Riel

Slats / Cadres de lit / Parrillas

Reinforcement crossbar / Traverse de renfort / Travesaño de refuerzo

Hardware pack / Ferrures / Paquete de herrage

Warning rail / Rail d’avertissement / Riel con advertencia

Back side rail / Rail latéral arrière / Riel lateral trasero

Short guard rail / Garde-corps court / Barras de seguridad corta

Long guard rail / Garde-corps long / Barras de seguridad larga

Label rail / Rail d’étiquette / Riel con etiqueta

Left ladder rail / Rail d’échelle gauche / Riel de escalera izquierdo

Right ladder rail / Rail d’échelle droite / Riel de escalera derecho

Ladder step / Marche d’échelle / Paso de escalera

02

02

02

02

02

01

02

01

01

03

03

01

01

02

16

02

04

02

02

01

02

02

01

PART LIST - TWIN OVER TWIN BUNK BED / LIT SUPERPOSÉ TWIN / CAMA LITERA

- 5 -



PART NUMBERS

PART LABELS WALNUT / NOYER / NOGAL GREY / GRIS / GRIS

01

09

05

13

20

03

11

18

07

15

22

02

10

17

06

14

21

04

12

19

08

16

00

01

02

02

06

07

07

09
22

22

11

12

14

14

15

15

03

03

05

04

13

13

13

13

09

06

08 08

01

16

16

16

20

20

20

17

17

10

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

19

18

18

- 6 -



A 16

22

38

38

08

16

14

04

01

B

C

D

E

F

G

I

J Allen Wrench /  Clé Allen / Llave Allen

Screw (7x90 Hed. 13mm) /Vis / Tornillo

Screw (7x50mm) /Vis / Tornillo

Screw (1/4x100mm) /Vis / Tornillo

Barrel nut (1/4) /Écrou de baril / Tuerca conector

Screw (7x100mm) /Vis / Tornillo

Screw (Ø4x35mm) / Vis / Tornillo

Wood dowel (10x40mm) Goujons de bois /
Tarugo de madeira

Wood dowel (10x100mm) Goujons de bois /
Tarugo de madeira

HARDWARE PACKAGE - TWIN OVER TWIN BUNK BED / LIT SUPERPOSÉ TWIN /CAMA LITERA

- 7 -

Flat head screwdriver / Tournevis à tête plate /
Destornillador de cabeza plana



x2

17

18

18

20

19

J

J

J

E

E

E

E 08

08

01

I

J

E

I

I

I

I

I

I

E

E

20

1.

- 8 -



03

0410

19

20

15

03

03

0516

15

E

C

C

C

C

C

C

J

J

J
C

C

C

E

E

E

E

E

E

E

E

E

08

08

01

C

J

2.

- 9 -



C

C

J

J

C

C

C

20

x2

14

16

01

01

02

E

E

E

E

E

E

08

08

01

C

J

3.

- 10 -



A

B
B B

B

B B

BB

A

A

A

A

A

AA

AA
AA

AA

07

06

02

01

01

01

02

1º 2º

J

J

B

08

08

01

A

J

B

B

4.

- 11 -



04G

START BY THE
CENTRAL SLATS

COMMENCER PAR
LES CADRES CENTRALES

EMPEZAR POR LAS
PARRILLAS CENTRALES

COMMENCER PAR
LES CADRES CENTRALES

G
G

G
G21

21

21

21

G

21

5.

- 12 -



G
G

G G

G

21
5x

21

21

21

21

G

G
G

ATTENTION: DO NOT ASSEMBLE THIS SLAT NOW!

ATTENTION: NE PAS ASSEMBLER CETTE
CADRES MAINTENANT!

ATENCIÓN: NO MONTE ESTE LISTÓN AHORA!

!

10G

6.

- 13 -



A

C
C

B
B

B
B

B

B

B

B

A

A
A

C

C

A

A

A

A

J

J

E

E

E

E

E
E

A
A

03
J

05

03

04

03
09 09

09

09

07

06

06

B

C

E

08

08

04

04

01

A

J

1º 2º

B

B

7.

- 14 -



G
G

G
G

21

21

21

21

G

21

21

04G

8.

- 15 -

START BY THE
CENTRAL SLATS

COMMENCER PAR
LES CADRES CENTRALES

EMPEZAR POR LAS
PARRILLAS CENTRALES

COMMENCER PAR
LES CADRES CENTRALES



10G

G

21
5x

G21

21

21

21

G

G
G

G
G

G
G

9.

- 16 -

ATTENTION: DO NOT ASSEMBLE THIS SLAT NOW!

ATTENTION: NE PAS ASSEMBLER CETTE
CADRES MAINTENANT!

ATENCIÓN: NO MONTE ESTE LISTÓN AHORA!

!



F

F

F

F

F

04F

WITH OTHER PERSON’S HELP, STACK THE BEDS

FIN DE L’ASSEMBLAGE DE LIT SUPERPOSÉ

CON LA AYUDA DE OTRA PERSONA, APILAR LAS CAMAS

10.

- 17 -



E

E

E

E

E

D

D

D D

D

D

D

D

D

J

J

E

E

E

E

11

11

12
13

13

13

13

13

D

E

08

08

01J

11.

- 18 -



C

C

C

C

J

J

E

E

E

E

08

08

08

08

02

01

C

J

E 02

12.

- 19 -



11

11

12

12

D

D

J

J

D

D

DDD
D

D 06

01J

13.

- 20 -



G
G

G

G

G

G

G

G

G

28 3/4"

28 3/4"

36 5/8"

22

22

22

06G

14.

- 21 -



END OF BUNK BED ASSEMBLY

FIN DE L’ASSEMBLAGE DE LIT SUPERPOSÉ!
POUR ASSEMBLER LE SUPERPOSE EN

DEUX LITS, PASSEZ A LA PAGE SUIVANT!

TO ASSEMBLE THE BUNKS AS
TWO TWIN BEDS, GO TO THE FOLLOWING PAGE!

G

21

G

G

G

21

G

21

04G

15.

- 22 -

ENSAMBLAJE DE LITERA TERMINADO
PARA MONTAR LA LITERA COMO

DOS CAMAS INDIVIDUALES, VAYA
A LA PÁGINA SIGUIENTE!

!



TWO TWIN BEDS

DEUX LITS

DOS CAMAS

- 23 -



- 24 -

06

07

1505

03

01

02

16

14

20

20

17

18

16

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

06

07

15
04

03

01

02

16

14

20

17

10

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

1919

18

01

02

03

04

05

06

07

10

14

15

16

17

18

19

20

21

00

Lower headboard-footboard post / Tête de lit inférieure / Poste inferior de la cabecera

Lower headboard-footboard post / Tête de lit inférieure / Poste inferior de la cabecera

Lower headboard-footboard / Panneau de lit inférieure / Panel cabecera cama inferior

Lower headboard-footboard top rail  / Rail supérieur de la tête de lit inférieure / Riel superior del cabecero inferior

Upper headboard-footboard top rail  / Rail supérieur de la tête de lit supérieure / Riel superior del cabecero superior

Upper headboard-footboard / Panneau de lit supérieure / Panel cabecera cama superior

Upper headboard-footboard post / Tête de lit supérieure / Poste superior de la cabecera

Upper headboard-footboard post / Tête de lit supérieure / Poste superior de la cabecera

Upper headboard-footboard post / Tête de lit supérieure / Post superior de la cabecera

Front side rail / Rail latéral avant / Riel lateral delantero

Rail / Rail / Riel

Rail / Rail  / Riel

Slats / Cadres de lit / Parrillas

Hardware pack / Ferrures / Paquete de herrage

Warning rail / Rail d’avertissement / Riel con advertencia

Back side rail / Rail latéral arrière / Riel lateral trasero

Label rail / Rail d’étiquette / Riel con etiqueta

02

02

02

01

02

01

03

03

01

02

16

02

02

01

02

02

01

PART LIST - TWIN OVER TWIN BUNK BED / LIT SUPERPOSÉ TWIN / CAMA LITERA



PART NUMBERS

PART LABELS WALNUT / NOYER / NOGAL GREY / GRIS / GRIS

01

05

20

03

18

07

15

02

10

17

06

14

21

04

19

16

00

- 25 -

06

07

1505

03

01

02

16

14

20

20

17

18

16

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

06

07

15
04

03

01

02

16

14

20

17

10

21
21

21
21

21
21

21
21

21
21

21
21

21
21

21
21

1919

18



- 26 -

HARDWARE IDENTIFICATION FOR TWO TWIN BEDS

A 16

16

24

32

08

16

01

B

C

E

G

I

J Allen Wrench /  Clé Allen / Llave Allen

Screw (7x90 Hed. 13mm) /Vis / Tornillo

Screw (1/4x100mm) /Vis / Tornillo

Screw (7x100mm) /Vis / Tornillo

Screw (Ø4x35mm) / Vis / Tornillo

Wood dowel (10x40mm) Goujons de bois /
Tarugo de madeira

Flat head screwdriver / Tournevis à tête plate /
Destornillador de cabeza plana

Barrel nut (1/4) /Écrou de baril / Tuerca conector



x2

17

18

18

20

19

J

J

J

E

E

E

E 08

08

01

I

J

E

I

I

I

I

I

I

E

E

20

1.

- 27 -



C

C

C

C

J

x2

14

01

02

20

16

E

E E

E

E

08

08

01

C

J

MAKE SURE THE PANEL GROOVES
ARE IN THE FRONT OF THE HEADBOARD

ASSUREZ-VOUS QUE LES RAINURES DU
PANNEAU SONT À L’AVANT DE LA TÊTE DE LIT

2.

- 28 -

ASEGÚRESE DE QUE LAS RANURAS
DEL PANEL ESTÉN EN LA PARTE DELANTERA

DE LA CABECERA



03

0410

19

20

15

03

03

0516

15

E

C

C

C

C

C

C

J

J

J
C

C

C

E

E

E

E

E

E

E

E

E

08

08

01

C

J

3.

- 29 -



A

B
B B

B

B B

BB

A

A

A

A

A

AA

AA
AA

AA

07

06

05

03

03

01

02

1º 2º

J

J

B

08

08

01

A

J

B

B

4.

- 30 -



A

B
B B

B

B B

BB

A

A

A

A

A

AA

AA
AA

AA

07

06

04

03

03

01

02

1º 2º

J

J

B

08

08

01

A

J

B

B

5.

- 31-



08G

G
G

G
G

G
G

G
G

21

21

G

21

21
21

21
21

6.

- 32 -

START BY THE
CENTRAL SLATS

COMMENCER PAR
LES CADRES CENTRALES

EMPEZAR POR LAS
PARRILLAS CENTRALES

COMMENCER PAR
LES CADRES CENTRALES



G
G

G

G
G

G
G

G

G
G

G
G

G

G

GG
G

G

G
G

G

G

G

G
G

G

G

GG
G

G

G
G

G

G

G

21

21

21

21

21
21

21

21

21

21

21

21

G

21

24G

7.

- 33 -



Estevão Buschle, 262 - 25 de Julho
MÓVEIS KATZER

São Bento do Sul - SC - Brasil
BR11 - 20439




